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Evaluate each expression given COSx = -% and -gi <x< xw. You can use triangles.
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Evaluate each expression given sinx-—--% and %’5<x<2:r. You can use triangles.
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Verify the identity.

5, l—lcos‘.z,\"sef.:z x=tan’ x

|- (QCOSQX‘ l)Scfch = +an?x
\"(QCOSQX Sec?x — SCc2X>= +an? X

I+ QCM(@JE{) tSec?x= tan’X
|- 2+sec?x = tan?x
- l+sec2x,= tan?X
- |+ (dan2w+ )= tan?X
b,  sindx =3sinx - 4sin’ x : +on ix = +an2?2Xx
Sin(2&<+/>é> = 3sinx - Ysin3x

5in2%L08 X+ cos2Xsinx = 3sinx-H sin3x

(2sinxcosx)cosx + (1 - 2sin?x)sinx = 3sinx = Ysin3x
25inx 052X+ sinx=2sin°X = 3sin x-Ysin3 x
2sin X (l -sm"x) tSinX-2s5in 23X = 3sinx—Ysin3x
2sin%-2sin3X +SiNX - 25(n3X = 3sinX ~Ysin3X

Solve over the interval [O,Z:r). 3sinx —4Sin®x = 3sin x-Ysin 3
4 1-cos2x =sinx x 2cosx +sin2x =0

Scanned with CamScanner



